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03:05    expT = 32 s   Kp=nan    moon=0.51
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03:15    expT = 41 s   Kp=nan    moon=0.51
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03:27    expT = 53 s   Kp=nan    moon=0.51
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03:40    expT = 69 s   Kp=nan    moon=0.51
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03:54    expT = 87 s   Kp=nan    moon=0.52

0 100 200 300 400 500
342
343
344
345
346
347
348
349
350
351

04:11    expT = 107 s   Kp=nan    moon=0.52
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04:29    expT = 163 s   Kp=nan    moon=0.52
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04:52    expT = 234 s   Kp=nan    moon=0.52
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05:21    expT = 282 s   Kp=nan    moon=0.52
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05:55    expT = 359 s   Kp=nan    moon=0.52
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06:34    expT = 409 s   Kp=nan    moon=0.53
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07:21    expT = 324 s   Kp=nan    moon=0.53
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08:03    expT = 369 s   Kp=nan    moon=0.53
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08:46    expT = 337 s   Kp=nan    moon=0.54
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09:23    expT = 276 s   Kp=nan    moon=0.54
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09:56    expT = 214 s   Kp=nan    moon=0.54
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10:21    expT = 104 s   Kp=nan    moon=0.54


